
400
LBS

400
LBS

200
LBS

200
LBS

INDOOR/OUTDOOR 
WICKER PATIO SET

200
LBS

Thank you for your purchase!







(1)X1

Left Armrest

(2)X1

Left Backrest

(3)X1

Left Seat

(4)X1

Right Armrest

(5)X1

Right Backrest

(6)X1

Right Seat

(7)X2

Seat Cushion

(8)X2

Back Cushion

STEP 1 STEP 2

STEP 3 STEP 4

(9)X2

Ottoman

(10)X2

Ottoman Cushion

(11)X1

Left Frame

(12)X1

Right Frame

(13)X1

Support

(14)X1

Table Top 

(15)X2

Glass

(16)X6

M6*30 Bolt

(17)X12

M6*40 Bolt

(18)X2

M6*130 Bolt

(19)X12

M6*15

(20)X32

Φ6 Washer

(21)X4 (22)X2

M4 Allen
WrenchM50*50

(1) Left

(3) Seat

M6*40 Bolt 
and Φ6 Washer

M6*30 Bolt 
and Φ6 Washer

(17)
(17)

(16)

(20)
(20) (20)

(2) Back

M6*40 Bolt 
and Φ6 Washer

M6*30 Bolt 
and Φ6 Washer

(16)

(16)

(17)
(17)

(20)
(20)(20)

(20)

(20) (18)

M6*130 Bolt 
and Φ6 Washer

(7) 

(8)



STEP 7 STEP 8

STEP 9 STEP 10

STEP 5 STEP 6

M6*40 Bolt 
and Φ6 Washer

M6*30 Bolt 
and Φ6 Washer

(17) (17)
(16)

(20)
(20)

(20)

(6) Seat

(4) Right

M6*40 Bolt 
and Φ6 Washer

M6*30 Bolt 
and Φ6 Washer

(5) Back

(17) (17)
(16)

(20)
(20)

(20)

(20)(18)

M6*130 Bolt 
and Φ6 Washer

(16)(20)

(7) 

(8) 

x2 M6*40 Bolt 
and Φ6 Washer

(17)

(20)

(17)
(20)

(17)
(20)

(17)
(20)

(11) Left Frame

(14) Table Top

(12) Right Frame
(9) Ottoman

(10) Cushion



STEP 13 STEP 14

STEP 11 STEP 12

(15) Glass

(19)
(20)

(20)
(19)

(13) Support

M6*15 Bolt 
and Φ6 Washer

(21)
(19)

(20)

(19)
(20)

M6*15 Bolt 
and Φ6 Washer

Wipe the suction cups as well as the glass top with an 
alcohol pad (not included) to ensure there is no dust or 
debris.

Place the glass top onto the suction cups and hold in place 
while gently applying downward pressure.  

Ensure the suction cups are flat and that the glass is 
secure before using the product.



Quality and Safety Guidelines: 

• Please follow the static and dynamic weight capacity limits provided on this 
item. 

• Please use this item on a stable, level surface only. All chair and ottoman 
feet/legs/base should contact the flooring surface when in use. Do not use this 
item if any instability is detected.

• Please take care to keep the chair and ottoman stationary when lowering 
yourself into a seated position in this chair.

• Please inspect this product regularly to make sure there are no damaged or 
worn parts. Also inspect to make sure all hardware is tightened correctly and 
securely. 

• If any parts are damaged or worn, please stop using the product. Repair this 
product with manufacturer supplied parts only.

• This item is intended for sitting only, do not climb or stand on this item.

• This chair and ottoman is not intended for significantly reclined positions. To 
prevent accidental tipping, do not push backward or forward while seated.

• The product was designed for seating one person at a time.


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7



